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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 4th Semester Examination, 2021 

PHIACOR10T- PHILOSOPHY (CC10) 

CLASSICAL INDIAN TEXT 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions:  
েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is the definition of Buddhi as given in Tarkasaṁgraha?
তকর্সংgেহ pদt বুিdর লkণ িক ? 

(b) What are the six kinds of Laukika sannikarṣa?
ছয় pকার েলৗিকক সিnকষর্ িক িক ? 

(c) What is Nirvikalpaka pratyakṣa?
িনিবর্কlক pত°k কােক বেল ? 

(d) State the definition of kārya after Annambhaṭṭa as mentioned in Tarkasaṁgraha. 
অnংভĄেক অনুসরণ কের তকর্সংgেহ pদt কােযর্র লkণিট উেlখ কেরা। 

(e) What is anyathāsiddhi? 
অন°থািসিd িক ? 

(f) What is parāmarśa? 
পরামশর্ কােক বেল ? 

(g) State the definition of Vyāpti as given in Tarkasaṁgraha.
তকর্সংgেহ pদt ব°ািpর লkণিট উেlখ কেরা। 

(h) What is Vyāpāra?
ব°াপার কােক বেল ? 

(i) What are the characteristics of a sat hetu?
একিট সৎ েহtর �বিশŶ°gিল িক িক ? 

(j) What is the definition of Upamiti?
উপিমিতর লkণ িক ? 
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2. Answer any two questions:  
েয-েকােনা dিট  pেűর উtর দাওঃ 

5×2 = 10

(a) State the definition of Smṛti as mentioned in Tarkasaṁgraha. Explain the 
significance of the term ‘mātra’ in the definition of Smṛti.  
তকর্সংgহ অনুসাের sৃিতর লkণ উেlখ কেরা। লkণ মধ°s ‘মাt’ পেদর তাৎপযর্ আেলাচনা কেরা। 

(b) Explain two examples of asamavāyi-kāraṇa as given in Tarkasaṁgraha. 
তকর্সংgেহ pদt অসমবািয় কারেণর dিট দৃŶাn ব°াখ°া কেরা। 

(c) Explain the definition of pramā as mentioned in Tarkasaṁgraha. 
তকর্সংgেহ pদt pমার লkণিট িবেųষণ কেরা। 

(d) Analyse after Dipikā the definition of Pakṣa as given in Tarkasaṁgraha. 
তকর্সংgেহ pদt পেkর লkণ দীিপকা অনুসাের িবেųষণ কেরা। 

  
3. Answer any two questions:  

েয-েকােনা dিট  pেűর উtর দাওঃ 
15×2 = 30

(a) State the definition of Kāraṇa as mentioned in Tarkasaṁgraha. Explain the three 
kinds of Kāraṇa following Annambhaṭṭa. Why is the colour of the threads not 
regarded as a cause of the effect cloth?  
তকর্সংgেহ উিlিখত কারেণর লkণিট উেlখ কেরা। অnংভĄেক অনুসরণ কের িতনpকার কারণ 
ব°াখ°া কেরা। ‘তntrপ’ পটrপ কােযর্র কারণ নয় েকন ? 

2+9+4 = 15

(b) Analyse the definition of a Pramā as given in Tarkasaṁgraha. What objection is 
raised against the definition in Dipikā? How does Annambhaṭṭa remove the 
objection?  
তকর্সংgেহ pদt অpমার লkণিট িবেųষণ কেরা। দীিপকায় এই লkেণর িবrেd িক আপিt উtািপত 
হেয়েছ ? অnংভĄ িকভােব আপিtিট দূর কেরেছন ? 

5+6+4 = 15

(c) Explain the definition of Anumiti as given in Tarkasaṁgraha. Why and how is 
the definition changed in the Dipikā? Do you think that the change is 
satisfactory? 
তকর্সংgেহ pদt অনুিমিতর লkণ ব°াখ°া কেরা। দীিপকােত লkণিটেক েকন এবং কীভােব পিরবতর্ন 
করা হেয়েছ ? েতামার মেত পিরবতর্নিট িক সেnাষজনক ? 

3+8+4 = 15

(d) Point out the Sādhya, Pakṣa and Hetu in each of the following cases of anumiti 
and explain why the hetu is defective: 
িনmিলিখত অনমুানgিলর পk, সাধ° ও েহt উেlখ কেরা এবং েহtিট েকন dŶ তা ব°াখ°া কেরাঃ 

5×3 = 15

 (i) The pot must have colour, because it is a substance. 
 ঘটিটর অবশ°ই rপ আেছ, েযেহt তা dব°। 

 (ii) Fire is non-warm, because it is a substance like water. 
 বিh অনুŹ, েযেহt বিh dব° েযমন জল। 

 (iii) Abhāva is non-eternal, because it possesses abhāvatwa. 
 অভাব অিনত°, েযেহt এর অভাবt আেছ। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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